DSP - Practice Problem Set #1

1. Use the Fourier transform properties to obtain the Fourier transform of the following:
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2. Evaluate the frequency-domain representations of the shown signals:
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3. Consider the linear time-invariant systems given as:

(a) x(r) =e 2 u(t) and y(r) = Se > u(r);

(b) x(t) =e Yu(t) and y(r)=3e"Pu(r —4);
(c) x(t) =e 2 u(t) and y(t) =1e 2 ur);

(d) x(t)=e2u(r) and y(r)=e " u(t)+e Y u(r).

For each of the above systems, determine (i) the transfer function H(Q2), (ii) the impulse response

function h(t).

Homework: Solve and turn in Problems 1(c), 2(c), 3(d)



